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They were nullified in her intestines — oyna Toua

OVERVIEW

7717 927 maintains that the nXvr »» which a 779 drank are not Xnun, since they
became °y»1a V2. Our MdoIN discusses why is the 11°2 only °¥yn3, but not in her
mouth.

- 9032 NY 7791 0IYa 19aN
The inference is that however while the nXvr °n is still in the mouth of the 77
they did not become »v2 —

mooIn anticipates a difficulty:
- ’nN0N M 19919 MNIYN DT (3 nywn v pr9) NI NIVNA 1I¥9INT 2) JY 9N

And even though the 71wn teaches in 1792 noon that all the birds invalidate the
NNRWVT 97, by drinking from them —

mooin replies:
- 0YY0aN 3\01‘1‘,7 0P 29219 ONNT PHYY 13929 9N

The >''1 answers that there (by the birds) we are discussing a situation before
the nXvn "» was sanctified by the ashes of the 77X 779, and therefore the nxvr "»

became 9195 through the drinking of the birds -
- S9NY’ BIYN IN 9992 I RINY 1927 (3 poyy “PPPIINA DIVNPN YSTH

as v"'w1 explained in P37 P79 that we require that it should be 922 3017, or it
is 7100 because work was done with it -

! The inference of Mo (that W2va X% 7*92 07w2) and the subsequent discussion on Mo is (seemingly) only
according to the first answer of the X3 (that X°77 "3 7713); however according to the answer of WX 27 (that it is
Mo 1pwn) there is no inference and it could even be NXWVA *» NNK 7952 17V,
% If a bird drank (a little) from the nXwn », the entire NXYA " become 109, because the bird when it drinks spits back
into the nRvn >» some of the water in its beak, and that bit of water when it mixes with the rest of the nXvr °» makes
it 7100. It is evident that nXwvn *» become 7109 even in the mouth (of the bird); why do we say here that it becomes 212
(or 9109) only m°yn2a?!
? First the water is drawn in a *3. Afterwards the ashes of the 77X 779 are placed in this *>3 and mixed into the
water. The process of placing the ashes into the water is called v17°p.
* The commentaries find this >"@A in ox 7"7 2,0 79,
> The 7N writes (in ™,v> [npn] 12713) that *25 9% 01 0. This is interpreted to mean that the water must come
directly from its source (0™n o°») into the vessel. However here, some of the water came into the vessel from the
bird’s mouth.
% See *"wA there who writes that since they were set aside for (bird) drinking it is considered as if work was done
with the nRvr “». See X,31 v and in "W there nXVM °» 7"7 that 70K97 invalidates nxvr . The Mmoo in 7" 2,0 1’51?‘!
ox disagrees that drinking is considered 7a87n.
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However here we are discussing the nxvrn °n after the wsp, since the X3

considers this XV 2 as 7R NP RAWD 120 which applies only to Nk " after the

w17°P (before the WT°R it is not 7MNNM ARMIY RHLA) -
= (1 mwn 199 N9 DTN PNTD TWITD ANR NYDID NN NN

And 7o89% does not 9215 the nXun "» after w17°p, as we learnt in a w2 in noon
17D, regarding -

- 99N 19NY 1Y 1Y )Na NYDID NANYNI O
The water of nxvn "» that 782 disqualifies them until he puts the ashes into
the nXvrn °n, at which point and onwards 79872 does not disqualify the D°w7pma nRvn n.

Therefore in our case merely drinking (which may be considered a 7989%, or have the problem of
"952 1n7°11 before W17°p) cannot be 7010 the NXvA "» after YI17p —

mooIn explains the difference of 19871 9105 whether it is before w1 7°p or after W 1p:
- 19413 59 01 939 013 mY asna1 1Y 999 *xoroa)

And it is derived (in »9v), for since it is written ;771 "»%, but these nxvn °» which

are WTpn are already 1771 "»Y -
- Zny1n YN DIWN MIYNA 1YV

However the nxun "» become 7105 when they are ;79p22 Y202 on account of 1937
NYTT which applies even after w17p," but not on account of 7X%».

mooIn offers another explanation why w17°p TnK? the nNXvn " become 2105,
- YNy N1 DIYN N1INY 5297 NNPYY YIDM n pro mmpnT) NNSDINA)

And in the Xnooin he explains the reason of 5" (that it is 9109 and not Xnun)
because it is written na2wn»® the 771 must be watched -
11990 191 PANNYY RN NINYNY DIONY 1IN INYD

7 Similarly the rule of *722 10vr is also only before w17°p, but not after w1 7°p (see 771N HoW).
® This is amended to read *1902 (instead of X5°021) it is found in 75p "0 npn 'v B0,
X7 DRV,
10971 " means the water that are to be sprinkled (see *"wA there in 771 1% 73"7 wnIn).
"'We derive that NXon "»2 nY01D 7982 since it states X7 NRVA 773 7% NAwAY *"1a n7vh Ao, this is interpreted that
the nnwn is to make sure that it reaches the state of 7171 °» (that it is 7RI "), however once it is already 771 *n (it
was wTpn) there is no longer the 9105 of 7ox77.
"2 It seems from Moo that while it is (only) in the mouth of the 719 there is no ny7a no°a (for perhaps the 775 can
spit it out?). The n¥77 1o in only when it is 7°yn2.
" See “Thinking it over’.
1 See footnote # 9.
' Seemingly according to the reasoning of the noo1 it should become 7109 as soon as the 715 drinks from it (not
only 7°yn32). See PRmW 127
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This excludes these nxvr "»n which are not nan»wn»» since the ;199 drank from
them.

SUMMARY

Regarding nXvn »; before w1 1°p there is the issue of 7oX71 (and *722 yn1°m), which
renders it 709, but not after v17°p where they become 7109 (only) through no*3
).

THINKING IT OVER

The 2109 of 79897 is derived from the P109 of nwn5.'® The 109 of Ny77 MO is
also derived from nawnb."” Why is it that regarding the 7X9n 109 it does not
apply W17°p K% (we exclude it from 771 °*n),'® however regarding the 9109 of ro’;
Ny (where it also says 771 *n% nwnY) it apples even after'” w1p?1*°

16 See footnote # 11.
' See the previous X1 7"7 Mmoo TIE footnote # 6.
18 See footnote # 11.
19 See footnote # 13.
20 See n"31 OWA KW 71 HRIMW T2T.
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